<switchAntenna (bandindex, upOrDown, seIAntenna)>
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Check if transmitting
read XMITPIN
into txValue1

| wait DEBOUBCETIME )
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txValue1 < 600 ?

pOrDown = 0xFF01 AND
bandindex <> 0 AND
kandToAnt[bandIndex] > 0

selAntenna = bandToAnt[bandindex]
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upOrDown = -1

R upOrDown = 1 selAntenna =+ upOrDown

NO

selAntenna = 0

selAntenna =
NUMANTENNA

selAntenna = 255 ?

selAntenna =
NUMANTENNA

selAntenna =
NUMANTENNA +1

selAntenna = 1

antenna index value

is converted to CD (using bit to
bit AND) and then put on
output pins

set output1 to
selAntenna && 0x01

set output3 to
selAntenna && 0x04

—

»{ return(selAntenna)

When selAntenna is 0 and DOWN is
pressed, selAntenna becomes 255
(it's a byte, so 0-1 = 255)
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